Rocksys

-Rockfall simulation study program for civil engineers-
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1 ® max= 45.00 (° )
2) Vmin= 0.010 (m/s)
3) o k= 0.001 (1/s)
4-2.
D
NO X Y u 9 (C) a Ck NO
1 0.000 65.500 0.150 65.5561 0.965 0.087 2
2 6.000 52.300 0.150 27.0721 0.841 0.399 2
3 10.500 50.000 0.150 63.4350 0.962 0.096 2
4 18.000 35.000 0.350 29.5778 0.619 0.952 4
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2 ( ) 0.690] 0.180f 0.470] 0.296| 0.553| 0.227 4.690] 2.020
3 ( ) 0.690, 0.180] 0.540f 0.280| 0.580{ 0.250| 4.690f 2.020
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HO = 0.000 (m)
VH = 0.000 (m/s)
W = 0.000 (m/s)
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r yvs
3)
r = 0.250 (m)
y s= 25.500 (KN/m3)
W =1.669 (KN)
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NO.1 7.50 27.0721
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§ 6.

6-1. NO.1( x=7.50)
NO
X*(m) Lx(m) H(m) h(m) vV(m/s) E(KJ) BC)

1 7.6 54967 0.281 0.250 1.439 0.176 27.072
2 7.7 54.961 0.394 0.351 4.516 1.737 55.744
3 7.6 54.980 0.288 0.250 1.348 0.155 3.419
4 7.7 54.972 0.541 0.482 5.124 2.236 36.244
5 7.6 54985 0.281 0.250 0.723 0.045 27.072
6 7.6 54945 0.284 0.250 1.261 0.135 1.241
7 7.6 54.972 0.288 0.257 1.340 0.153 26.861
8 7.6 54959 0.306 0.272 1.325 0.150 34.314
9 7.6 54.939 0.281 0.250 0.602 0.031 27.072
10 7.6 54.983 0.293 0.250 1.152 0.113 4.869
11 7.6 54.935 0.281 0.250 0.872 0.065 27.072
12 7.6 54.976 0.281 0.250 1.406 0.168 27.072
13 7.6 54.952 0.283 0.252 2.221 0.420 34.016
14 7.6 54987 0.306 0.272 1.883 0.302 31.787
15 7.6 54.932 0.311 0.277 1.626 0.225 17.213
16 7.6 54.982 0.302 0.269 1.033 0.091 17.117
17 7.6 54.929 0.365 0.325 1.709 0.249 16.937
18 7.6 54977 0.281 0.250 0.775 0.051 27.072
19 7.6 54966 0.281 0.250 1.306 0.145 27.072
20 7.9 54.964 0.929 0.827 4.286 1.564 30.527
21 7.6 54.958 0.294 0.250 0.857 0.063 -11.629
22 7.7 54.987 0.378 0.336 2.416 0.497 3.824
23 7.6 54.999 0.281 0.250 1.242 0.131 27.072
24 7.6 54.968 0.281 0.250 0.783 0.052 27.072
25 7.6 54966 0.281 0.250 1.001 0.085 14.648
26 7.7 54.980 0.417 0.371 3.448 1.013 2.224
27 7.6 54.982 0.348 0.310 4.408 1.655 44 .291
28 7.6 54.958 0.282 0.250 0.643 0.035 -11.591
29 7.6 55.000 0.356 0.317 3.201 0.873 22.945
30 7.6 54.983 0.281 0.250 1.548 0.204 21.613
31 7.6 54.922 0.281 0.250 1.015 0.088 27.072
32 7.6 54.973 0.322 0.287 2.163 0.399 45.354
33 7.6 54.971 0.281 0.250 0.842 0.060 27.072
34 8.0 54.989 1.335 1.189 4.079 1.417 3.165
35 7.6 54.953 0.283 0.250 1.161 0.115 -31.624
36 7.6 54937 0.282 0.250 1.394 0.165 8.613
37 7.6 54.981 0.288 0.250 1.529 0.199 11.736
38 8.2 54864 1.842 1.640 6.206 3.279 -3.678
39 7.6 54.952 0.281 0.250 0.906 0.070 27.072
40 7.6 54.993 0.334 0.297 1.726 0.254 25.583
41 7.6 54.989 0.327 0.292 1.730 0.255 25.271
42 7.6 54.948 0.324 0.289 1.626 0.225 26.038




NO

X=(m) Lx(m) H(m) h(m) V(m/s) E(kJ) B(C)
43 7.6 54.950 0.281 0.250 0.948 0.077 27.072
44 7.7 54.989 0.493 0.439 5.522 2.597 33.557
45 7.6 54.990 0.281 0.250 1.830 0.285 16.976
46 7.6 54.926 0.324 0.289 1.838 0.288 35.575
47 7.6 54.933 0.325 0.289 3.038 0.786 27.323
48 7.6 54.972 0.281 0.250 0.782 0.052 27.072
49 7.6 54.999 0.281 0.250 0.804 0.055 27.072
50 8.3 54.574 2.008 1.788 6.839 3.983 -19.423
51 7.6 54977 0.337 0.300 3.077 0.806 16.619
52 7.6 54.949 0.314 0.280 2.175 0.403 45.175
53 7.6 54.947 0.281 0.250 1.229 0.129 27.072
54 7.6 54977 0.308 0.250 1.848 0.291 2.255
55 7.6 54.965 0.322 0.286 1.706 0.248 14.361
56 7.6 54.997 0.336 0.299 1.645 0.230 23.916
57 7.7 54.972 0.381 0.340 5.907 2.971 36.592
58 7.6 54.916 0.281 0.250 1.545 0.203 19.706
59 7.6 54.972 0.309 0.250 2.132 0.387 -0.673
60 7.9 54.947 1.000 0.890 3.934 1.318 39.217
61 7.8 54.996 0.703 0.626 4.265 1.549 54.118
62 7.6 54.978 0.321 0.286 1.851 0.292 37.580
63 7.6 54977 0.285 0.254 1.721 0.252 30.979
64 7.6 54.965 0.328 0.292 4.364 1.622 50.971
65 7.8 54.977 0.751 0.669 4.370 1.626 40.528
66 7.6 54.996 0.288 0.256 1.882 0.302 33.517
67 7.6 54.968 0.288 0.256 1.944 0.322 45.022
68 7.6 54.992 0.281 0.250 0.562 0.027 -2.985
69 7.6 54.957 0.281 0.250 0.713 0.043 27.072
70 7.6 54.934 0.326 0.291 3.563 1.081 31.895
71 7.6 54.958 0.285 0.253 2.150 0.394 46.133
72 7.6 54.974 0.281 0.250 1.134 0.110 27.072
73 7.6 54.975 0.290 0.250 1.512 0.195 -2.830
74 7.6 54.948 0.281 0.250 1.448 0.179 27.072
75 7.6 54.993 0.281 0.250 1.274 0.138 27.072
76 7.6 54.999 0.282 0.250 1.478 0.186 -2.208
77 7.6 54.945 0.285 0.250 1.184 0.119 8.712
78 7.7 54.980 0.413 0.368 5.062 2.182 35.942
79 7.6 54.988 0.292 0.250 1.584 0.214 -1.777
80 7.6 55.000 0.290 0.258 2.069 0.365 43.021




6-2. NO.2( x=23.01)
NO
X*(m) Lx(m) H(m) h(m) vV(m/s) E(KJ) BC)

1 23.1 54.967 0.287 0.250 1.557 0.206 24560
2 23.2 54.961 0.331 0.288 1.839 0.288 39.072
3 23.1 54.980 0.287 0.250 1.205 0.124 29.578
4 23.3 54.972 0.773 0.672 9.882 8.315 41.313
5 23.1 54985 0.295 0.257 1.968 0.330 53.352
6 23.1 54945 0.287 0.250 0.938 0.075 29.578
7 23.1 54.972 0.299 0.250 1.555 0.206 -11.511
8 23.1 54959 0.287 0.250 0.923 0.073 29.578
9 23.1 54.939 0.287 0.250 1.256 0.134 29.578
10 23.2 54.983 0.344 0.299 1.640 0.229 26.020
11 23.1 54.935 0.307 0.250 2.086 0.370 8.730
12 23.1 54.976 0.287 0.250 1.409 0.169 29.578
13 23.2 54.952 0.333 0.290 1.765 0.265 15.052
14 23.1 54987 0.287 0.250 0.687 0.040 29.578
15 24.1 54.932 2.625 2.283 9.872 8.299 27.538
16 23.2 54.982 0.320 0.279 1.715 0.251 18.077
17 23.1 54.929 0.289 0.250 0.808 0.056 -9.713
18 23.1 54977 0.305 0.250 1.512 0.195 -3.921
19 23.1 54966 0.293 0.250 0.498 0.021 -15.346
20 23.1 54.964 0.287 0.250 1.252 0.134 29.578
21 23.1 54.958 0.308 0.268 1.789 0.273 34.299
22 23.1 54.987 0.287 0.250 1.064 0.096 29.578
23 23.2 54.999 0.325 0.283 2.236 0.426 31.945
24 23.1 54.968 0.287 0.250 1.530 0.199 27.112
25 23.4 54966 0.805 0.700 6.133 3.203 11.176
26 23.1 54.980 0.297 0.258 1.282 0.140 30.214
27 23.1 54.982 0.290 0.250 0.518 0.023 -12.718
28 23.2 54.958 0.358 0.312 1.522 0.197 22.295
29 23.1 55.000 0.310 0.270 1.398 0.166 21.800
30 23.1 54.983 0.288 0.250 1.049 0.094 17.068
31 23.1 54.922 0.287 0.250 1.255 0.134 29.578
32 23.1 54.973 0.301 0.250 1.637 0.228 10.218
33 23.1 54.971 0.304 0.264 2.066 0.363 43.158
34 23.3 54.989 0.682 0.593 10.289 9.015 39.147
35 23.1 54.953 0.287 0.250 1.163 0.115 29.578
36 23.1 54937 0.314 0.273 2.404 0.492 39.586
37 23.2 54.981 0.402 0.350 6.754 3.885 46.637
38 23.7 54864 1.486 1.293 11.011 10.325 14.934
39 23.2 54.952 0.324 0.281 2.357 0.473 45.842
40 23.1 54.993 0.287 0.250 1.464 0.182 26.038
41 23.1 54.989 0.306 0.250 1.507 0.193 7.129
42 23.1 54.948 0.287 0.250 1.177 0.118 29.578




NO

X=(m) Lx(m) H(m) h(m) V(m/s) E(kJ) B(C)
43 23.1 54.950 0.297 0.250 1.530 0.199 10.072
44 23.1 54.989 0.312 0.250 1.558 0.207 3.994
45 23.1 54.990 0.287 0.250 1.019 0.088 29.578
46 23.1 54.926 0.287 0.250 1.182 0.119 29.578
47 23.1 54.933 0.300 0.261 1.567 0.209 26.528
48 23.1 54.972 0.287 0.250 1.020 0.089 29.578
49 23.1 54.999 0.287 0.250 1.517 0.196 24.144
50 23.2 54.574 0.406 0.250 11.539 11.338 -47.440
51 23.1 54.977 0.287 0.250 1.362 0.158 29.578
52 23.2 54.949 0.319 0.278 1.358 0.157 32.342
53 23.1 54.947 0.287 0.250 1.137 0.110 29.578
54 23.1 54.977 0.295 0.250 1.420 0.172 9.470
55 23.1 54.965 0.287 0.250 1.435 0.175 29.578
56 23.1 54.997 0.291 0.250 0.497 0.021 -7.867
57 23.1 54.972 0.291 0.253 2.186 0.407 48.896
58 23.2 54.916 0.338 0.294 1.884 0.302 38.031
59 23.2 54.972 0.329 0.286 1.575 0.211 15.416
60 23.2 54.947 0.320 0.278 1.642 0.230 18.672
61 23.1 54.996 0.287 0.250 1.273 0.138 29.578
62 23.1 54.978 0.292 0.254 1.697 0.245 29.167
63 23.1 54977 0.287 0.250 1.537 0.201 22.040
64 23.1 54.965 0.302 0.263 2.041 0.355 40.929
65 23.1 54.977 0.298 0.259 1.764 0.265 39.475
66 23.1 54.996 0.296 0.258 0.968 0.080 29.387
67 23.1 54.968 0.297 0.258 1.529 0.199 38.647
68 23.5 54.992 1.216 1.058 9.305 7.372 40.113
69 23.1 54.957 0.287 0.250 1.249 0.133 29.578
70 23.1 54.934 0.287 0.250 1.485 0.188 21.850
71 23.1 54.958 0.292 0.250 1.132 0.109 7.876
72 23.1 54.974 0.287 0.250 1.266 0.136 29.578
73 23.1 54.975 0.287 0.250 0.675 0.039 29.578
74 23.2 54.948 0.322 0.280 1.366 0.159 33.752
75 23.1 54.993 0.287 0.250 1.346 0.154 29.578
76 23.1 54.999 0.287 0.250 1.336 0.152 29.578
77 23.1 54.945 0.301 0.262 2.276 0.441 26.689
78 23.1 54.980 0.287 0.250 1.091 0.101 29.578
79 23.1 54.988 0.309 0.269 2.197 0.411 46.629
80 23.1 55.000 0.291 0.250 0.648 0.036 -7.267
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o =5.0%
NO.1(x=7.50)
= 67.5% (54 )
= 0.0 CO0 )
= 32.5% (26 )
h(m) vV(m/s) E(kJ)
(Xmax) 1.788 6.839 3.983
(Xmin) 0.250 0.562 0.027
xX~) 0.346 2.135 0.571
NO. 1 (o) 0.268 1.473 0.816
17.452 1.240 5.012
4.072 1.428 2.258
X~+1 o 0.614 3.608 1.387
X~+2 o 0.882 5.081 2.203
X~+3 0 1.151 6.554 3.020
h(m) V(m/s) E(KJ)
K2=97.015 K2=22.850 K2=49.985
>5.991 >5.991 >5.991
NG NG NG
K2=68.380 K2=3.603 K2=3.603
>5.991 <5.991 <5.991
NG 0K 0K
(
95% 0.600 4.817 1.976
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7-2.
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NO.2(X=23.01)

= 58.8% (47 )
= 0.06(0 )
= 41.3% (33 )
h(m) V(n/s) E(kd)
(Xmax) 2.283 11.539 11.338
(Xmin) 0.250 0.497 0.021
%) 0.323 2.220 0.943
\0.2 ) 0.275 2.494 2.430
. 35.007 6.723 9.177
5.573 2.805 3.207
X~+1 o 0.598 4.714 3.373
X~+2 o 0.873 7.209 5.803
X~+3 0 1.148 9.703 8.233
h(m) V(n/s) E(KY)
K2=127.332 K2=63.181 K2=74.144
>5.991 >5.991 >5.991
NG NG NG
K2=91.860 K2=28.718 K2=28.718
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NG NG NG
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§ 8.

8-1.

X(m)
0C)
NC ) h(m) V(m/s) E(kJ)
Omax) 1.788 6.839 3.983
(X~+5.380 )| (X~+3.190 )| (X~+4.180)
0.600 4.817 1.976
95% (X~+0.950 )| (X~+1.820 )| (X~+1.720)
X= 7.5m e ( ) € =91.3% € =92.5% € =92.5%
NO.1 0 = 27.0721° (Xmin) 0.250 0.562 0.027
) N= 80 X~) 0.346 2.135 0.571
(o) 0.268 1.473 0.816
17.452 1.240 5.012
4.072 1.428 2.258
X~+10 0.614 3.608 1.387
X~+20 0.882 5.081 2.203
X~+30 1.151 6.554 3.020
Omax) 2.283 11.539 11.338
(X~+7.130 )| (X~+3.740 )| (X~+4.280)
0.535 4.926 2.066
95% (X~+0.770 )| (X~+1.080 )| (X~+0.460 )
X= 23.0m e ( ) € =92.5% € =90.0% € =90.0%
NO.2 0 = 29.5778° (Xmin) 0.250 0.497 0.021
: N= 80 x~) 0.323 2.220 0.943
(o) 0.275 2.494 2.430
35.007 6.723 9.177
5.573 2.805 3.207
X~+1o 0.598 4.714 3.373
X~+20 0.873 7.209 5.803
X~+30 1.148 9.703 8.233
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e ( )
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